SYMBOLIC LOGIC

SHORT TRUTH TABLES

Case 2:  Two Rows Needed to Show Validity
EXAMPLE 1:
T & P
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(1)   Construct a truth table with all the premises and the conclusion.
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(2)  
Make the conclusion false (F).

(3)   Since this makes the atomic sentence M false, write this down.
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Strategy:  If you can make both premises T, you have shown the argument to be INVALID.

(4)  Since there is only one way to make Premise 2 true, put a T under its main connective.
(5)  Since P needs to be false to make Premise 2 true, put an F under it.
(6) If P is false, Premise 1 is false, regardless of the value of T.
NOTE:  The fact that you did not succeed in getting all true premises in the first row is not enough to show the argument VALID.  You need to show it is impossible to make all premises true at the same time, in any row.  One way to do this is to construct another row in which you make another premise true first.

(7) Construct another row in which you make a different premise true first (in this case, Premise 1).
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(8) For Premise 1 to be true, both P and T need to be true.  Write that down.
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(9) If T and P are both true, Premise 2 is false.

(10) If there are more premises, repeat Steps 3-8.  If you have tried all premises and cannot get them all to be true in one row, you have shown the argument to be VALID.

